"Eyovpe

Bétovpe x=0

(x+1)f (x)-xf(x+3)=1 = (0+1)f(0)-0-f(0+3)=1=f(0)=1 (1)
Axoun

0étovpe x=—1

(x+1)f(X)=xF (x+3) =1 = (~1+1)f (-1)—(-1)-F (-1+3) =1 (2)=1 (2)

(1).(2)=[f(0)=f(2)

Apan T dev ivar avtiotpédyun

F(x+1)=(x+1)f(X) = £(0+1)=(0+1)f (0)=[F(1)=F(0)].

Apanf dev ivar avtiotpédyyun

"Exovpue

O¢tovpe x=0

2(x)+1=-2f(x*) = f?(0)+1=-2f(0*)=f*(0)+2f(0)+1=0=

[f(0)+1] =0=[f(0)=-1] (1)

Axoun

Oétovpe x=1

2(x)+1=-2f(x*) = f*(1)+1=-2f(1")=>F’(1)+2f(1)+1=0=

[f()+1] =0=[f(1)=-1]

(1).(2)={f(0)=f(1)

Apan f dev eivar avtiotpéyiun



